
 A tire has 0.0150m on a 5 C day whereFestsparteoutside is 1.02 atm Pgauge in the tire is 1.70atm
After 30 minutes ofdriving
the T inside the tire is 45.0C and V 0.0159m
What is the new Pgauge Ptotal Pgauge Pambient
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An automobile engine involves thermodynamic processes

consider a piston TIE combustion raises Tandlor

gasdoeswork of piston
W Saw Jedi SPAdx PdV

Work depends on path Theareas
under the two curvesdiffer



Suppose Vb and PA Gasdoes negative
work on thePff piston

example A Porsche Boxster has a 6 cylinderengine with a stroke

length of 7.8cm a bore cylinder diameter of8.6cm a total volumeof 2,68m

and a compression ratioof 11.3 I Finditshorsepower at 7200rpm
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noworkdonebygas

Totalworkdone over thecomplete cycle is positive WabtWhatWca 70
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tfhff.ITfIIed is the internal KETPES energyof a system
addingheatQ increases a
Doing work w decreases a
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w Blue area is
larger than redarea
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come back to conceptQ 4


